2019 Spur Gear Drive Manual Fasteners & Tools TRAMMPN

Nuts, Bolts & Washers

16x 10x 12x 2X 4x
©

@) :
2x X X
0o @ O © J
— Blue [1 X 2.5 mm
u 1xTX15
PT Screw -
Key
3x12mm '

M4x10
M4x15




Step 1 pre-assembly left drive 2019 Spur Gear Drive TRAMMN

slot

4 pcs M5 x 20 HEX + washer motor cable position

loctite 243 will be added later!
Do not tighten yet! Use hand only

il
\/" ’\\,,'
)

Ad glue to motor shaft:
Loctite 243

\— 6 pcs PT screws

4pcs M4 x15 Torx
use loctite 243

1x brass washer
N 3x3x12mm Key

2x grub screw,
use loctite 243

pinion gear

unibody



Step 2 pre-assembly right drive 2019 Spur Gear Drive TRAMMN

4 pcs M5 x 20 HEX + washer
loctite 243 will be added later!
Do not tighten yet!

Ad glue to motor shaft:
Loctite 243

\— 6 pcs PT screws

4pcs M4 x15 Torx
use loctite 243

Pinion gear

1x brass washer
N 3x3x12mm Key
2x grub screw,

use loctite 243



TRNMMPN

2019 Spur Gear Drive

Step 3 pre-assembly left drive

M4 x 10 Torx

X
S
S
T
o)
-~
=
=
=
[2]
o
a
<

3pcs M4 x10

use Loctite 243




TRNMMPN

2019 Spur Gear Drive

Step 4 Motor to Unibody, Unibody to Truck

M4 x 10 Torx

Fad
o
T
™
°g
N
X @
< =
=0
n 9
o
s 2
< S

3pcs M4 x10

use Loctite 243

M4 x 10 Torx

use Loctite 243



Step 5 Final assembly, Backlash, Lubrification 2019 Spur Gear Drive Tﬂnmpn

After backlash adjustment, tighten
down the 4 HEX bolts evenly.

P4 AN\
\
\ ‘3‘
\ //' y,
\ Y,
= = 4
) \!
] — \
\ (
Dive train can slide to adjust < )

backlash. Feed a strip of double
folded regular printer paper in
between gear and pinion gear to

5 pcs M5 x 20 Torx adjust backlash.

4 pcs M4 x 10 Torx

/ +washer + Locktite 243

) S— Cover plate
V-Ring seal,
lubricate contact
surface with grease

Qq
POM Gear: Use plenty lithium J

based grease for lubrification.



	Spur gear drive 2019_manual Layout1 (1)
	Spur gear drive 2019_manual Layout1 (2) (1)
	Spur gear drive 2019_manual Layout1 (3) (1)
	Spur gear drive 2019_manual Layout1 (4) (1)
	Spur gear drive 2019_manual Layout1 (5) (1)
	Spur gear drive 2019_manual Layout1 (6) (1)

